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1) The initial volume of a gas cylinder is 750.0 mL, if the pressure of a gas inside the cylinder
changes from 840.0 mmHg to 360.0 mmHg, what is the final volume the gas occupies?
A)3.151L B)630.0mL C) 1.750 L D) 321.4 mL

2) Which of the following diatomic elements would have a mass of 19.08 grams stored in a
3.82 L container at 3,632 mmHg and 100°C?
A)H, B) Br, OF, D) O,

3) The amount of heat required to melt one mole of a solid is called the
A) heat of vaporization B) heat of fusion
C) heating curve D) cooling curve

4) Substance A is a molecular compound that dissolves in gasoline but not in water. The
molecules of A are very likely
A) metallic  B) nonmetallic C) polar D) nonpolar

5) NaCl is which type of solid?
A) molecular solid B) ionic solid
C) covalent atomic solid D) nonbonding atomic solid

6) What is the solvent in a vodka martini?
A) water B) ethanol C)ice D) olive

7) Which of the following is the active ingredient of baking soda?
A) NH; B) NaHCO; C) KOH D) NaOH

8) Which of the following acids is diprotic?
A) HCIO,4 B) HNO; C) HI D) H,SO4

9) What is the volume of 28.0 g of nitrogen gas at STP?
A)33.6 B)11.2 C)224 D) 44.8

10) Which of the following is the formula for heptane?
A) CsHio B) Cs;Hy C) C:Hie D) C,Hg
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R=0.082atm.l/mol.K=8.314J/mol.K=1.987cal/mol.K
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